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QUESTION 1
A company wantsto display the following text on its Benefit Employee Self Service:

"Your core annual holiday benefit comprises 20 days of holidays and 8 public holidays. You can purchase additional
days through the."

How do you configure this?

A. Configure plan type grouping display-> administration usage-> self-service description text
B. Configure plan type grouping display-> self-service usage-> self-service description text
C. Manage enrollment authorization-> administration usage-> self-service description text

D. Manage enroliment authorization-> self-service usage-> self-service description text

Correct Answer: C

QUESTION 2

The benefits administrator has configured five rates for five different legal entities. After implementation, an
employeelogs into the benefit self service. When selecting a plan, the employee cannot see the assigned rate amount to
the plan under the rate section.

Why can\\'t the employee see the assigned rate amount?

A. The rate amount Is a variable rate for the employee\\'s legal employer.

B. The rate amount is of the unit of measure "Money".

C. The rate amount is not configured for the employee\\'s specific legal employer.

D. The rate amount "Assign on Enrollment" is enabled for five legal entities.

Correct Answer: C

QUESTION 3

Your customer decided to use some delivered explicit life events in their business. What is your next step asan HCM
Consultant after defining triggers as per the retirement?

A. Associate the life events with only flexible benefit programs.
B. Associate the life events only with benefit plans which are not in a program.
C. Associate the life events only with benefit plans which are in a program.

D. Associate the life events with benefit plans or program.
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E. Associate the life events only with Core benefit programs.

Correct Answer: D

QUESTION 4

Your customer wants its employees to submit signed hard copies of confirmation while managing benefits online from
Benefits Self-Set vice. How do you accomplish this requirement?

A. Select Display Signature in the Confirmation section while managing Benefits Self- Service configuration.

B. Confirm that the correct self-service category is selected on the Configure Plan Type Grouping Display page for
administrators.

C. Select the same administrator category on the Edit Plan Type page while managing Benefits Self-Service
configuration.

D. Confirm that the correct self-service category is selected on the Configure Plan Type Grouping Display page.
E. Select Display Signature in the Confirmation section while managing Enrollment Authorizations.

Correct Answer: B

QUESTION 5

The company has the following two plans:

1.

Life Insurance Plan with Option 1: Employee only and Option 2: Employee Plus Family
2.

Medical Insurance Plan with Option 1: Employee only. Option 2: Employee Plus Spouse, and Option 3: Employee Plus
Spouse Plus Child

The company wants to automatically enroll salaried employees into Medical Insurance Option 3: Employee plus Spouse
plusChild, if the employee has enrolled into Life Insurance Plan Option 2: Employee Plus family.

Which is the correct configuration for this scenario?

A. Configure the eligibility profile with parameter Person Type > Employee and Employment tab > Salaried or Hourly as
Salaried and attach this to both the plans.

B. Configure the eligibility profile with parameter- Person Type > Employee and Employment tab > Salaried or Hourly as
Salaried. Related coverage > Eligible for another plan and attach this to both the plans..

C. Configure the eligibility profile with parameter- Employment tab > Salaried or Hourly as Salaried and attach this to
both the plans.

D. Configure the eligibility profile with parameter- Personal > Person Type > Employee and Employment tab >Salaried
0. Hourly as Salaried" Related coverage > Eligible in another option in plan and attach this to both the plans.
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Correct Answer: D
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